RERE-AIVITRERRISOLVTHERER A
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No 5 REH AHDOEE ) L-134 t%%f—% 37 BEIE
Ba ke Ba ke Ba kg

1 T R7.3.13 4B BHE9(<8.7) Bt 97(<8.3) BEEY
2 Hh = BT R7.3.13 4B BRHE9(<7.3) BRHE9(<84) > Jarkcarcl
3 A= HT R7.3.13 4] BRHEE7(<9.6) mHE9(<6.8) BRHEEY
4 1B mT R7.3.13 4] BRHEE7(<9.8) BRHEE7(<83) BRHEEY
5 tHET R7.3.13 4] BRHEY(<8.1) BRHE9(<8.0) BRHEEY
6 tEET R7.3.13 4] BRHE7(<83) BRHEE7(<6.9) BRHEEY
7 K MR HT R7.3.13 4] BRHEE7(<8.2) mHE9(<6.3) BRHEY
8 HIES) R7.3.13 4] BRHE9(<8.5) B 9(<6.3) BRHEY
9 E R AT R7.3.13 45 BRHEET(<74) BRHEE9(<7.9) BRHEY
10 E R AT R7.3.13 4] BRHEE9(<7.9) B 9(<85) BRHEY
11 . NN R7.3.13 45 BRHEE9(<7.8) BREEY(<1) BRHEY
12 A= R7.3.13 4] BRHE9(<8.2) BRHEE9(<84) BRHEEY
13 aJIEr R7.3.13 45 BRHEEY(<94) B 97(<6.6) BRHEY
14 BB T R7.3.13 4] BRHE9(<8.6) BRHEET(<1]) BRHEEY
15 JlIES R7.3.13 4] BRHEE7(<8.9) R E9(<85) BREEY
16 AEh R7.3.13 4] BRHEE7(<8.1) BRHEE9(<7.8) BREEY
17 RKEH R7.3.13 4B BRHE9(<6.0) B 97(<8.6) BRHEEY




BREHR

No BT REH REDIELE t 134 3 L-137 BEIE
Bg kg Bg kg Ba ke
18 ;¥ VN R7.3.13 =S| BRHEET(LT.1) BRHET(<8.7) BRHEET

BRBEEEICBT2—REROEEE €29 L 100Ba/kg(E>HL-134, £ L-13TDOEEE)




RERE-AIVITRERRISOLVTHERER A

@3/13LF R ﬁﬂz%a"l‘i-nt&r?A
1008q/k£’%§6£®o€n
No 5 REH AHDOEE ) L-134 t%%f—% 37 BEIE
Ba ke Ba ke Ba kg
1  BRET R7.3.14 4B BHE9(<828) Bt 97(<6.5) BEEY
2 AENT R7.3.14 4B BRHE9(<8.5) BRHE9(<8.2) > Jarkcarcl
3 ELL R7.3.14 4] BRHEE7(<9.5) R E9(<84) BRHEEY
4 FHH R7.3.14 45 BRHEET(<1] BRHE9(<6.7) BRHEEY
5 E)H R7.3.14 4] BRHEE7(<7.0) BRHEE9(<7.3) BRHEEY
6 FHH R7.3.14 45 BRHE9(<8.3) BRHE9(<8.2) BRHEEY
7 FHEH R7.3.14 4] BRHEE7(<9.2) BRHEE7(<7.8) BRHEY
8 FRH R7.3.14 4] BRHE9(<9.6) BRHE9(<8.1) BRHEY
9 ELL R7.3.14 4] BREET(TD) BRHEE9(<9.2) BRHEY
10  BRHET R7.3.14 4] BRHE9(<9.2) BRHE9(<9.0) BRHEY
11 E)IH R7.3.14 4] BRHEE7(<9.9 RHEE9(<8.7) BRHEY
12 EJIF R7.3.14 4] BRHEE9(<8.1) R 9(<8.6) BRHEEY
13 i )IET R7.3.14 45 BRHEEY(<94) BRHEEY(<74) BRHEET
14 & JIIET R7.3.14 4] BRHEE7(<9.5) BRHEE9(<7.0) BREEY
15 AB T R7.3.14 45 BRHEE9(<75) B 9(<8.0) BRHEET

BREEEICBIT2—BRESOEEE 9L 100Be/kg(t 9 L-134, Y L-131DEEIE)




RERE-AIVITRERRISOLVTHERER A
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BREHKE
No BRT REH HEDIELE trL-134 tr5 L-137 AEE
Bqg. kg Ba. kg Ba kg
1 o BX T R7.3.14 =SS! BRHEET(<9.4) BREET(<7.6) BREET

BRBEEEICBT2—REROEEE £ 9L 100Ba/kg(E>HL-134, £ L-13TDEEE)




